—

6. 3(2+ Vv2)
: Distribute the 3 to all terms inside the brackefs = (3)(2) +3(¥2)
Simplify = (3)(2) + 3(V2)
=6+ 3V2
7. V2(3+5V7)
Distribute V2 the to all terms inside the brackets - \/\2_;3) + ‘f(fﬁ)
Multiply the coefficients and the radicands Simplify =3v2+5V2:
o = 32 + 5V14
8. 4V3(2V6—5V3)
Distribute the 3 to all terms inside the brackets = 4v/3(2v6) — 4V3(5V3)
Multiply coefficients and multiply radicands Simplify = 818 — 20V9
= 8v9-2 — 20(3)
= 8(3)V2 - 60
= 242 - 60
©
9. (2+ V3)(4— 3V5)
f"-.:::\._—:\\

Multiply each term in the first bracket to each (2 +V3)(4 — 3VE)
term in the second bracket. AN

= 2(4) + 2(-3V5) +vV3(4) + V3(-3V5)

=8—6V5 + 4v3 -3
10. (4V5+ 2v3)(3V5 -a\p\/gg‘u\a
Mulfiply sgsNGHT I the first (VET 2360 —6)
et{,\@:\Ne %5@& @érm in the second — 7
P racket® & = 4v/5(3V5) + 4V5(—V3) + 2v3(3V5) + 2V3(—V3)

Multiply coefficients and multiply = 12V25 — 415 + 6V15 — 249

radicands

Simplify = 12(5) —4V15 + 6V15 -2(3)

| = 60 —4V15 + 6V/15 -6
= 54 + 2415




